ARRE=EN/NERER FEX TEER =“Fivi ]
BCREM+ o 1m * 2T 2l m
BT 3m x 2T 6 m
HNERILTY 4m * 2E AT 8 m
ERTF#E51E 5m* 18 FRr 5 m
XHA 2m x 28 Ffr 4 m
= 25| m

CV5.5-4CHR g FrEX FEGERES =R {v2 e
BBREMNDE (X3~X4) 4.6mx 2 92| m
(Y4~Y3)+ 9.7mx 2 194 m
BT Y3~Y2 3mx2 6 m
SERILTY 4mx 2 8| m
X2~X4 42+06+3+1 88 m
X4~ (X2~X3) 1+34+06+(4.2%2/3) 74, m
EBi5=EE (2.354+0.5m) x 2 57| m
RNERL EYZE Tmx2 2 m
665 m
= 67 m

{b#EH/— FrEX FEGERES =R {v2 e
SMERRT (1.854+0.64+0.154+0.2) * 2 56| m
VAN = 1.2 12 m
RER (BEAD0.6mIZEREL THRE) (0.6 % 2 12 m
A&t 8 m




